Christmas Math Word Problems

Create an equation for each word problem to help you
reach an answer.

1.) Timmy and his sister, Penelope, are helping their mom decorate the Christmas
tree. Timmy hangs up 12 red ornaments. Penelope hangs up 9 green ornaments
and their mom hangs up 10 blue ornaments. How many ornaments are
decorating the tree?
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2.) Timmy's dad fills the candy dish with 60 chocolate kisses. Timmy takes 4 to eat
and Penelope takes 3. A few minutes later, Timmy's dad takes 3 kisses to eat
and his mom takes 2. How many chocolate kisses are left in the candy dish?
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3.) Timmy's mom and dad are stringing Christmas lights all over the house. The
first string of lights has 24 bulbs. The second string of lights has 36 bulbs. The
third string of lights has 24 bulbs. How many bulbs are there?
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4.) It is Christmas morning and Santa has delivered all the gifts. He has left 23 gifts
under the tree for Timmy and 23 gifts for Penelope. But Santa didn't forget
mom and dad, and left them 10 gifts each. How many gifts are under the
Christmas tree?

- -
i
E

© ThuVienTiengAnh.Com



